

## LIMIT THEOREMS ON LAG INCREMENTS OF A GAUSSIAN PROCESS

S. A. El-Shehawy

Department of Mathematics, Faculty of Science, Menoufia University, Shebin El-Kom 32511, Egypt shshehawy64@yahoo.com

#### **ABSTRACT**

This paper aims to establish limit theorems on the lag increments of a centered Gaussian process on a probability space in a general form under consideration of some convenient different statements.

## Indexing terms/Keywords:

Gaussian process, Lag increments, Law of the iterated logarithm.

#### **Academic Discipline And Sub-Disciplines:**

Stochastic process - Increments - Limit Theorem.

#### SUBJECT CLASSIFICATION:

2010 Mathematics Subject Classification: 60F15, 60G70.

## TYPE (METHOD/APPROACH)

Almost sure behaviour.



# Council for Innovative Research

Peer Review Research Publishing System

Journal: JOURNAL OF ADVANCES IN MATHEMATICS

Vol.10, No.5

www.cirjam.com, editorjam@gmail.com



#### 1. INTRODUCTION

Limit theorems on the increments of Wiener processes and Gaussian processes have been investigated in various directions by many authors [1], [2], [4], [6] and [7], etc. According to the previous results, we are interested specifically in Choi, Y. K. et al. [4] whose results are the following limit theorem on the lag increments of a Gaussian process.

Theorem 1.1 ([4]).

Let  $\{X(t), 0 \le t < \infty\}$  be a centered Gaussian process on the probability space  $(\Omega, F, P)$  with X(0) = 0 and stationary increments  $E[\{X(t) - X(s)\}^2] = \sigma^2(|t - s|)$ , where  $\sigma(y)$  is a function of  $y \ge 0$ . Then

$$\limsup_{T \to \infty} \sup_{0 \le t \le T} \frac{\left| X(T) - X(T - t) \right|}{d(T, t)} = 1, \quad a.s.,$$

$$\lim_{T \to \infty} \sup_{0 < t \le T} \sup_{0 \le s \le t} \frac{\left| X(T) - X(T - s) \right|}{d(T, t)} = 1, \quad a.s.,$$

$$\lim_{T \to \infty} \sup_{0 < t \le T} \sup_{t \le s \le T} \frac{\left| X(s) - X(s - t) \right|}{d(T, t)} = 1, \quad a.s.,$$

and

$$\lim_{T \to \infty} \sup_{0 < t \le T} \sup_{t \le s \le T} \sup_{0 \le h \le t} \frac{\left| X(s) - X(s - h) \right|}{d(T, t)} = 1, \ a.s.$$

where  $d(T,t) = [2t(\log(T/t) + \log\log t)]^{1/2}$ .

The main aim of this paper is to reformulate these previous results throughout studying the almost sure behaviour in a general form using  $d_{\alpha}(T,t)$  with  $0 < \alpha < 1$  instead of d(T,t), where

$$d_{a}(T,t) = [2\sigma^{2}(t)(\log(T/t) + (1-\alpha)\log\log T + \alpha\log\log t)]^{1/2},$$

with  $0 < \alpha < 1$ ,  $\log t = \log(\max(t, 1))$  and  $\log \log t = \log\log(\max(t, e))$ . For some  $C_0 > 0$ , let  $\sigma(t) = C_0 t^{\beta}$ ,  $0 < \beta < 1$ .

#### 2. MAIN RESULTS

In this section we are going to restudy the results obtained in Theorem 1.1 and we give our main results regarding to  $d_{\alpha}(T,t)$  with  $\alpha \in ]0,1[$  .

#### Theorem 2.1

For a centered Gaussian process  $\{X(t),\,0\leq t<\infty\}$  on the probability space  $(\Omega,F,P)$  with X(0)=0 and stationary increments  $E[\{X(t)-X(s)\}^2]=\sigma^2(|t-s|)$ , where  $\sigma(y)$  is a function of  $y\geq 0$ , we have

$$\lim_{T \to \infty} \sup_{0 \le t \le T} \frac{\left| X(T) - X(T - t) \right|}{d_{\alpha}(T, t)} = 1, \quad a.s., \tag{1}$$



$$\lim_{T \to \infty} \sup_{0 < t \le T} \sup_{0 \le s \le t} \frac{\left| X(T) - X(T - s) \right|}{d_{\alpha}(T, t)} = 1, \quad a.s., \tag{2}$$

$$\lim_{T \to \infty} \sup_{0 < t \le T} \sup_{t \le s \le T} \frac{\left| X(s) - X(s - t) \right|}{d_a(T, t)} = 1, \quad a.s., \tag{3}$$

and

$$\lim_{T \to \infty} \sup_{0 < t \le T} \sup_{t \le s \le T} \sup_{0 \le h \le t} \frac{\left| X(s) - X(s - h) \right|}{d_{\alpha}(T, t)} = 1, \ a.s. \tag{4}$$

**Remark.** Theorem 1.1 is immediate by putting  $\alpha = 1$  in Theorem 2.1.

### 3. PROOF

Before proving Theorem 2.1, we shall first give the following lemmas. It is interesting to compare (1) with the law of the iterated logarithm

$$\lim_{T \to \infty} \sup \frac{\left| X(T) \right|}{d_{\alpha}(T, T)} = 1, \quad a.s., \tag{5}$$

Here (5) follows by setting  $a_T = T$  in the next Lemma 3.1.

Lemma 3.1 ([8]).

Let  $\{X(t),\,0\!\leq\!t<\!\infty\}$  be a centered Gaussian process with

$$\sigma^2(h) = E[\{X(t+h) - X(t)\}] = C_0 h^{2\beta} > 0 \text{ for } 0 < \beta < 1$$

and a constant  $\,C_{\scriptscriptstyle 0} > 0$  . Let  $\,0 < a_{\scriptscriptstyle T} \le T\,$  be a function of  $\,T\,$  for which

- (i)  $\partial_T$  is non-decreasing,
- (ii)  $T/a_T$  is non-decreasing.

Then

$$\lim_{T\to\infty} \sup_{T\to\infty} \beta_T |X(T)-X(T-a_T)| = 1, \quad a.s.,$$

and

$$\lim_{T\to\infty} \sup_{0< t\le T-a_T} \sup_{0\le s\le a_T} \beta_T \left| X(t+s) - X(t) \right| = 1, \quad a.s.,$$

where

$$\beta_T = [2\sigma^2(a_T)(\log(T/a_T) + \log\log T)]^{-1/2}$$



Lemma 3.2 ([3] and [5]).

Let  $\{X(t), -\infty < t < \infty\}$  be an almost surely continuous Gaussian process with  $E\{X(t)\}=0$  and  $E[\{X(t+h)-X(t)\}^2]=\sigma^2(t), \ \sigma(t)=t^\beta\,\sigma_1(t)$  for some  $\beta>0$ , where  $\sigma_1(t)$  is a non-decreasing function. Then, for any  $\epsilon>0$ , there exist positive constants  $C=C_\epsilon$  and  $a_\epsilon$  such that

$$P\left\{\sup_{0 \le s - h \le T} \sup_{0 \le h \le a} \left| X(s) - X(s - h) \right| > v \sigma(a) \right\} \le \frac{CT}{a} \exp\left(\frac{-v^2}{2 + \varepsilon}\right)$$

for every positive real numbers  $\nu$  and  $a \ge a_{\rm s}$ .

Now, we can begin to prove the mentioned results of Theorem 2.1.

#### **Proof of Theorem 2.1**

Firstly, from Lemma 3.1 we have

$$\lim_{T \to \infty} \sup_{0 \le t \le T} \frac{\left| X(T) - X(T - t) \right|}{d_{\alpha}(T, t)} \ge \lim_{T \to \infty} \sup_{t \to \infty} \frac{\left| X(T) \right|}{d_{\alpha}(T, T)} = 1, \quad a.s., \tag{6}$$

The result (1) follows from (6) when we establish that

$$\lim_{T \to \infty} \sup_{0 < t \le T} \sup_{t \le s \le T} \sup_{0 \le h \le t} \frac{\left| X(s) - X(s - h) \right|}{d_{\alpha}(T, t)} \le 1, \ a.s. \tag{7}$$

Take  $\theta > 0$  so that  $1 < 2(1+\epsilon)^2 \alpha/((2+\epsilon)\theta^{2\beta}) =: 1+2\epsilon'$  for any small  $\epsilon > 0$ . For  $n=1,2,3,\ldots$ , let  $k=\ldots,-2,-1,0,1,2,\ldots,\ k_n$ , where  $k_n=[(n+1)/\log\theta]$ . Set  $T_n=e^n$ ,  $t_k=\theta^k$ ,  $k_\theta=[1/\log\theta]$  and  $k_n'=[(n+1-\log n^{1/\epsilon'})/\log\theta]$ .

When  $T_n \le T \le T_{n+1}$ , we have

$$\sup_{0 < t \le T} \sup_{t \le s \le T} \sup_{0 \le h \le t} \frac{\left| X(s) - X(s - h) \right|}{d_{\alpha}(T, t)} \le \sup_{-\infty \le k \le k_{n}} \sup_{t_{k} < t \le t_{k+1}} \sup_{t \le s \le T} \sup_{0 \le h \le t} \frac{\left| X(s) - X(s - h) \right|}{d_{\alpha}(T_{n}, t_{k})}$$

$$\le \sup_{-\infty \le k \le k_{n} - 1} \sup_{0 < s - h, s \le T_{n+1}} \sup_{0 \le h \le t_{k+1}} \frac{\left| X(s) - X(s - h) \right|}{d_{\alpha}(T_{n}, t_{k})}$$

Put  $A_{n\,k}=\sup_{t\leq s\leq T}\sup_{0\leq h\leq t}\dfrac{\Big|X(s)-X(s-h)\Big|}{d_a(T,t)}$  , we find that

$$\sup_{0 < t \le T} \sup_{t \le s \le T} \sup_{0 \le h \le t} \frac{\left| X(s) - X(s - h) \right|}{d_{\alpha}(T, t)} \le \sup_{-\infty \le k \le k_{n} - 1} A_{nk}. \tag{8}$$

Let  $\lambda=\frac{1+\epsilon'}{\alpha}-1>1+\epsilon'-1=\epsilon'>0$  . From Lemma 3.2, we have



$$\begin{split} P\{A_{nk} \geq 1 + \varepsilon\} &= P\big[\sup_{0 \leq s - h, s \leq T_{n+1}} \sup_{0 \leq h \leq t_{k+1}} \frac{\left|X(s) - X(s - h)\right|}{\sigma(t_{k+1})} \\ &\geq (1 + \varepsilon) \frac{\sigma(t_k)}{\sigma(t_{k+1})} \big\{ 2(\log(\frac{T_n}{t_k}) + \alpha \log \log T_n + (1 - \alpha) \log t_k) \big\}^{1/2} \big] \\ &\leq C \frac{T_{n+1}}{t_{k+1}} \exp\Big( -\frac{(1 + \varepsilon)^2}{2 + \varepsilon} (\frac{\sigma(t_k)}{\sigma(t_{k+1})})^2 \big\{ 2(\log(\frac{T_n}{t_k}) + (1 - \alpha) \log T_n + \alpha) \log t_k \big\} \Big) \\ &\leq C \Big( \frac{T_{n+1}}{t_{k+1}} \Big) \Big( \frac{T_n (\log T_n)^{1 - \alpha} (\log t_k)^{\alpha}}{t_k} \Big)^{-\frac{2(1 + \varepsilon)}{2 + \varepsilon}} \theta^{-2\beta} \\ &\leq C \Big( \frac{T_{n+1}}{t_{k+1}} \Big) \Big( \frac{T_n (\log T_n)^{1 - \alpha} (\log t_k)^{\alpha}}{t_k} \Big)^{-(\frac{1 + 2\varepsilon'}{\alpha})} . \end{split}$$

Then,

$$P\{A_{nk} \ge 1 + \varepsilon\} \le C \left(\frac{T_{n+1}}{t_{k+1}}\right)^{-\lambda} \left(\log T_n\right)^{-\frac{(1+2\varepsilon')(1-\alpha)}{\alpha}} \left(\log t_k\right)^{-\binom{1+2\varepsilon'}{2}}. \tag{9}$$

Hence, for  $-\infty < k < k_{_{\boldsymbol{\theta}}}$  , we obtain

$$\begin{split} &\sum_{n=1}^{\infty} \sum_{-\infty < k \le k_{\theta}} P\{A_{n\,k} \ge 1 + \varepsilon\} \le C \sum_{n=1}^{\infty} \sum_{-\infty < k \le k_{\theta}} \left(\frac{T_{n}}{t_{k}}\right)^{-\lambda} \left(\log T_{n}\right)^{-\frac{(1+2\varepsilon')(1-\alpha)}{\alpha}} \\ &= C \sum_{n=1}^{\infty} \sum_{-\infty < k \le 0} \left(\frac{T_{n}}{t_{k}}\right)^{-\lambda} \left(\log T_{n}\right)^{-\frac{(1+2\varepsilon')(1-\alpha)}{\alpha}} + C \sum_{n=1}^{\infty} \sum_{k=0}^{k_{\theta}} \left(\frac{T_{n}}{t_{k}}\right)^{-\lambda} \left(\log T_{n}\right)^{-\frac{(1+2\varepsilon')(1-\alpha)}{\alpha}} \\ &\le C \sum_{n=1}^{\infty} \sum_{k=1}^{\infty} \left(\frac{e^{n}}{\Theta^{-k}}\right)^{-\lambda_{n}} - \frac{(1+2\varepsilon')(1-\alpha)}{\alpha} + C \sum_{n=1}^{\infty} \left(e^{n}\right)^{-\lambda_{n}} - \frac{(1+2\varepsilon')(1-\alpha)}{\alpha} \left(k_{\theta} + 1\right)e^{\lambda} \end{split}$$

Then,

$$\sum_{n=1}^{\infty} \sum_{-\infty < k \le k_0} P\{A_{nk} \ge 1 + \varepsilon\} < \infty \tag{10}$$

For the case  $k_{\theta} < k \le k_{\pi} - 1$ , we have, as in (9), the following inequality

$$P\{A_{nk} \ge 1 + \varepsilon\} \le C\left(\frac{T_n}{t_k}\right)^{-\lambda} \left(\log T_n\right)^{-\frac{(1+2\varepsilon')(1-\alpha)}{\alpha}} \left(\log t_k\right)^{-\left(1+2\varepsilon'\right)} \tag{11}$$

Note that, if  $K_{\theta} < k \le K_n'$ , then  $(t_{k+1})^{\lambda} \le (\theta^{k_n'+1})^{\lambda} \le (\frac{\theta T_{n+1}}{(\log T_n)^{1/\varepsilon'}})^{\lambda}$ .

From (11), it follows that

$$\begin{split} & \sum\nolimits_{n = 1}^\infty {\sum\nolimits_{k = {k_0} + 1}^{{k_n'}} {P\{ {A_{n\,k}} \ge 1 + \varepsilon \}} } \le C\sum\nolimits_{n = 1}^\infty {\sum\nolimits_{k = {k_0} + 1}^{{k_n'}} {\frac{{\theta ^\lambda }\left( {\log T_n } \right)^{(1 + 2\varepsilon')\left( {1 - \alpha } \right)/\alpha }}{{\left( {\log T_n } \right)^{\lambda/\varepsilon'}}}{\left( {\log T_n } \right)^{\lambda/\varepsilon'}}}{\left( {\log T_k } \right)^{ - (1 + 2\varepsilon')}} \\ & \le C\sum\nolimits_{n = 1}^\infty {n^{ - \left( {\frac{\lambda }{\varepsilon'} + \frac{{(1 + 2\varepsilon')\left( {1 - \alpha } \right)}}{\alpha }} \right)} {\sum\nolimits_{k = {k_0} + 1}^{{k_n'}} {k^{ - (1 + 2\varepsilon')}}} \le C\sum\nolimits_{n = 1}^\infty {n^{ - \left( {1 + \frac{{(1 + 2\varepsilon')\left( {1 - \alpha } \right)}}{\alpha }} \right)} {\sum\nolimits_{k = {k_0} + 1}^{{k_n'}} {k^{ - (1 + 2\varepsilon')}}} \end{split}$$

Then,



$$\sum_{n=1}^{\infty} \sum_{k=k_{n}+1}^{k'_{n}} P\{A_{nk} \ge 1 + \varepsilon\} < \infty.$$
 (12)

For the case  $k'_n < k \le k_n$  and for n large enough, we have

$$T_n^{\frac{1}{2}} \le t_{k+1} \le \theta T_{n+1} , \quad k_n - k_n' \le (\varepsilon' \log \theta)^{-1} \log n + 2 =: k_n'.$$

Using (11) again, thus we can obtain

$$\begin{split} \sum_{n=1}^{\infty} \sum_{k=k_{n}'+1}^{k_{n}} P\{A_{n\,k} \geq 1 + \varepsilon\} \leq C \sum_{n=1}^{\infty} \sum_{k=k_{n}'+1}^{k_{n}} \left(\frac{T_{n+1}}{t_{k+1}}\right)^{-\lambda} \left(\log T_{n}\right)^{(1+2\varepsilon')(1-\alpha)/\alpha} \left(\log t_{k+1}\right)^{-(1+2\varepsilon')} \\ \leq C \sum_{n=1}^{\infty} (k_{n} - k_{n}' - 1) \theta^{\lambda} \left(\log T_{n}\right)^{(1+2\varepsilon')(1-\alpha)/\alpha} \left(\log T_{n}^{\frac{1}{2}}\right)^{-(1+2\varepsilon')} \\ \leq C \sum_{n=1}^{\infty} k_{n}'' n^{-(1+2\varepsilon')(1-\alpha)/\alpha} n^{-(1+2\varepsilon')} \\ \leq C \sum_{n=1}^{\infty} n^{-(1+\varepsilon')} < \infty \;, \end{split}$$

i.e,

$$\sum_{n=1}^{\infty} \sum_{k=k',+1}^{k_n} P\{A_{n\,k} \ge 1 + \varepsilon\} < \infty. \tag{13}$$

Finally, merging (10), (12) and (13) together, we get

$$\begin{split} \sum\nolimits_{n=1}^{\infty} P \{ \sup_{-\infty < k \le k_n - 1} A_{n\,k} \ge 1 + \varepsilon \} \le \sum\nolimits_{n=1}^{\infty} \sum_{-\infty < k \le k_n - 1} P \{ A_{n\,k} \ge 1 + \varepsilon \} \\ &= \sum\nolimits_{n=1}^{\infty} \sum\nolimits_{-\infty < k \le k_0} P \{ A_{n\,k} \ge 1 + \varepsilon \} \\ &+ \sum\nolimits_{n=1}^{\infty} \sum\nolimits_{k=k_0 + 1}^{k_n} P \{ A_{n\,k} \ge 1 + \varepsilon \} \\ &+ \sum\nolimits_{n=1}^{\infty} \sum\nolimits_{k=k_1 + 1}^{k_n - 1} P \{ A_{n\,k} \ge 1 + \varepsilon \} < \infty \;. \end{split}$$

By the Borel-Cantelli, the result (7) follows from (8).

The result (4) follows also from (7) if we show that

$$\liminf_{T \to \infty} \sup_{0 < t \le T} \sup_{t \le s \le T} \sup_{0 \le h \le t} \frac{\left| X(s) - X(s - h) \right|}{d_{\alpha}(T, t)} \ge 1, \ a.s. \tag{14}$$

For  $n=1,2,3,\ldots$  , set  $T_n=e^n$  , and let T in  $[T_n,T_{n+1}]$  . Then

$$\sup_{0 < t \le T} \sup_{t \le s \le T} \sup_{0 \le h \le t} \frac{\left| X(s) - X(s - h) \right|}{d_{\alpha}(T, t)} \ge \sup_{1 \le s \le T_{n}} \frac{\left| X(s) - X(s - 1) \right|}{d_{\alpha}(T_{n+1}, 1)}$$

$$= \sup_{1 \le s \le T_{n}} \frac{\left| X(s) - X(s - 1) \right|}{d(T_{n}, 1)} \left[ \frac{d(T_{n}, 1)}{d_{\alpha}(T_{n+1}, 1)} \right]$$

$$= \sup_{1 \le s \le T_{n}} \frac{\left| X(s) - X(s - 1) \right|}{\sigma(1) \sqrt{2 n}} \left[ \frac{n}{n+1 + \alpha \log(n+1)} \right]^{1/2}$$

$$= B_{n} \left[ \frac{n}{n+1 + \alpha \log(n+1)} \right]^{1/2}.$$



According to [4], the following result can be found

$$\liminf_{n \to \infty} B_n \ge 1.$$
(15)

So, we have

$$\left[\frac{n}{n+1+\alpha\log(n+1)}\right]^{1/2} \to 1, \text{ at } n \to \infty.$$
 (16)

Thus the result (14) follows from (15) and (16). Moreover, the results (2) and (3) follow immediately from (1) and (4).

#### 4. CONCLUSION

Some results of limit theorems on the lag increments of a Gaussian process to a general case are developed under consideration  $d_{\alpha}(T,t)$  with  $0<\alpha\leq 1$ . These results can be considered as a generalization of some previous results to Gaussian process.

#### **ACKNOWLEDGMENTS**

Our thanks to the experts who have contributed towards development of our paper.

#### REFERENCES

- [1] Bahram, A. 2014. Convergence of the increments of a Wiener Process, Acta Math. Univ. Comenianoe LXXXIII 1, 113-118.
- [2] Chen, G.I., Kong, F.C. and Lin,, Z.Y. 1986. Answers to some questions about increments of a Wiener process, Ann. Probab.14, 1252-1261.
- [3] Choi, Y.K. 1991. Erdös-Réyi type laws applied to Gaussian process, J. Math. Kyoto Univ.31, 191-217.
- [4] Choi, Y.K. and Choi, J.H. 2000. On lag increments of a Gaussian process, Comm. Korean Math.Soc.15, N 2, 379-390.
- [5] Csáki, E., Csörgö, M., Lin, Z.Y., and Révész, P. 1991. On finite series of independent Ornstein-Uhlenbeck processes. Stoch. Proc. and their Appl.39, 25-44.
- [6] Hanson, D.I. and Russo, R.P. 1983. Some results on increments of the Wiener process with applications to lag sums of i.i.d.r.v.s, Ann. Probab. 11, 609-623.
- [7] Hanson, D.I. and Russo, R.P. 1989. Some "liminf" results on increments of the Wiener process, Ann. Probab. 17, 1063-1082.
- [8] Ortega, J. 1984. On the size of the increments of nonstationary Gaussian processes, Stoch. Proc. and their Appl. 18 (1984), 47-56.



# Author' biography



**S. A. El-Shehawy** got the B. Sc. And M. Sc. Degrees from Menoufia Unversity, faculty of Science; and Ph. D. degree from TU-Dresden in Germany (2001). He was an assistant professor of mathematical statistics from 2004 to 2012 and an associate professor of mathematical statistics from 2013 - 2014 at Al-Qassim University in KSA. Currently, he is an assistant professor of mathematical statistics at Manoufia University, Faculty of Science, Depatment of Mathematics. He has published several papers in the fields of Regression, Queuing theory, and Theory of distributions.

